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  :   

 (i) -     26          

 (ii)      1  5    ,      
   

 (iii)      6  10   I   ,    
    

 (iv)      11  22   II   ,    
    

 (v)      23 -       

 (vi)      24  26    ,      
  

 (vii) -       ,       ,  
                 
                  

 

General Instructions : 

(i) There are a total of 26 questions and five sections in the question 
paper. All questions are compulsory. 

(ii) Section A contains questions number 1 to 5, Very short Answer 
Type Questions of one mark each. 

(iii) Section B contains questions number 6 to 10, Short Answer Type I 
Questions of two marks each. 

(iv) Section C contains questions number 11 to 22, Short Answer            
Type II Questions of three marks each. 

(v) Section D contains question number 23, Value Based Question of 
four marks. 
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(vi) Section E contains questions number 24 to 26, Long Answer Type 
questions of five marks each. 

(vii) There is no overall choice in the question paper, however, an 
internal choice is provided in one question of two marks, one 
question of three marks and all three questions of five marks. An 
examinee is to attempt any one of the questions out of the two 
given in the question paper with the same question number. 

 
 

 –  

SECTION – A 
 

 
1.          ? 1 

 Why are cucurbits categorized as monoecious plants ? 
 
2.           F2    

()    1 

 Write the genotypic ratio of F2 generation in a monohybrid 
cross that was carried out by Mendel in a pea plant. 

 

3.   ABO              
   1 

 Mention the patterns of inheritance exhibited by human ABO 
blood group.  

 

4.           
        ?     1 

 Why is secondary immune response more intense than the 
primary response in humans ? Give a reason. 
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5.      -     
   1 

 Write one structural difference between the human functional 
insulin and proinsulin. 

 

 –  

SECTION – B 

 

6.            
         
        ?   
   2 

 State any two characteristics of the tapetum, present in the 
microsporangium of an angiosperm. Why are non-viable 
pollen grains seen to develop in a microsporangium where 
tapetum is damaged  or under developed ? Give a reason. 

 

7.        : 2 

 () ...            

 ()  ()   ()      

 Write one difference each between 

 (a) Template strand and coding strand in a transcription unit 
of DNA. 

 (b) Exon and intron gene sequences. 
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8.  ()            
             
   2 

 

          ?     
  

 List the symptoms of Ascariasis. Mention any two preventive 
measures you would suggest to a local population against 
contracting the disease. 

OR 

 How is innate immunity different from acquired immunity ? 
Write any two differences. 

 

9.  ()   ?    -  
   -    - 
()   2 

 What is Aneuploidy ? Write the karyotypes of an autosomal 
and sex chromosomal disorders in humans. 

 

10. “            ” 
  -        2 

 “Pyramid of number can be upright as well as inverted.” 
Explain with the help of one example of each. 
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 –  

SECTION – C 
 

11.             
   ,  ?     :     
   3 

 Why many flowering plants have developed devices to 
discourage self-pollination ? Describe any two such out 
breeding devices in plants. 

 

12.      : 3 

 ()              

 ()        ,      
   

 ()         

 

 “        ”    

 Justify the following statements : 

 (a) Banana is categorized as true fruit and a parthenocarpic 
fruit. 

 (b) Apple fruit develops only after fertilisation but is 
referred to as a false fruit. 

 (c) Castor seed is dicotyledonous and albuminous. 

    OR 

 “Seeds offer several advantages to angiosperms”. Explain.   
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13.     (t-)      
           ? 3 

 Explain the role of t-RNA during translation and where does 
peptide bond formation occurs in a prokaryote ? 

 

14.            
           ? 3 

 How does Darwin’s theory of natural selection explain the 
increase in the number of antibiotic resistant pests in our 
ecosystem ?  

 

15.            
‘ ’     3 

 Describe the various steps of Griffith’s experiment that led to 
the conclusion of the ‘transforming principle’. 

 

16.   ()   ?        
   ()          3 

 What is a cloning vector ? Describe any two features that are 
required to facilitate cloning into a vector. 

 

17. -           
          3 

 Name and describe the technique that helps in separation and 
isolation of DNA fragments for biotechnology experiment. 
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18. :   (G.M.O.)   ?    
   3 

 What are Genetically Modified Organisms (G.M.O.) ? Write 
the usefulness of G.M. plants. 

 

19. ()              5  
             
    ,        
       ?  

 ()    -          
   3 

 (a) Since the origin and diversification of life on earth there 
had been five episodes of mass extinctions. How is the 
sixth extinction presently in progress, different from the 
previous episodes and why ? 

 (b) Mention any two negative effects of loss of biodiversity 
in the region where it occurs. 

 

20.             
              
             
      ? 3 

 Increasing amounts of inorganic fertilisers and pesticides are 
being used for enhancing crop yield in our country. List any 
two current problems arising from this practice. Suggest a 
method that can help in overcoming these problems and   
how. 
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21.               
 ?            3 

 How does tissue culture help in growing explants into 
independent plants ? Write any two advantages of growing 
crops by tissue culture. 

 

22.              
 /       3 

 Describe the Secondary/Biological treatment given to the 
sewage water before it can be released into natural water 
bodies. 

 

 –  

SECTION – D 

 

23.               
                
      4 

 ()              
        

 ()  ,           
         ,  ? 

 Good air quality is one of the important factors for healthy 
life for young and old alike. Vehicular pollution is one of the 
major causes of deterioration of air quality in big cities. 
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 (a) List any two ways in which you can try to bring in 
awareness amongst the students of your age group to 
reduce air pollution in your city. 

 (b) Why is the Government promoting use of CNG/unleaded 
Petrol as a fuel for public and private cars, and buses  
etc. ? Explain. 

 

 –  

SECTION – E 
 

24. ()            
            
 : 5 

  (i)  

  (ii)  

 () ‘       ’    
      

 

            
  ?          
             ? 

 (a) Explain with the help of an example each, the following 
interactions that arise between the organisms living in a 
particular habitat. 

  (i) Predation 

  (ii) Competition 
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 (b) “Evolution of ‘mutualists’ is tightly linked. ” Justify with 
the help of an example.  

OR 

  How does the primary succession occur and progress in a 
newly created pond ? Give one example each of the 
plants appearing at different stages of succession. What 
would you call this type of succession ? 

 

25. () “   ()     
     ”    

 ()         5 

 

 ()             : 

  (i)    

  (ii)         
  

  (iii)     

 ()              
  

 (a) “The female gametophyte of an angiosperm is a seven 
celled, eight nuclei containing structure. ” Justify. 

 (b) Explain double fertilization in angiosperms.  

OR 
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 (a) Differentiate between spermatogenesis and oogenesis in 
humans with respect to : 

  (i) time of their initiation; (ii) number of gametes 
produced by each primary spermatocyte or primary 
oocyte; (iii) size of the gametes produced. 

 (b) Write the role of F.S.H. and L.H. in regulation of 
spermatogenesis and oogenesis.  

  

 

26. ..              
           5 

 

          

 Describe the experiment conducted by S.L. Miller and write 
its contribution towards origin of life on earth.  

OR 

 Write any five salient features of genetic code. 

____________ 


